9 (mu b/(GeV’c?))

3

Ratio to ALICE

10’

=
E
3K

o i
O o o
SN (6)] [e)}

11 II|I|||“IIIIII[V| IIIIIIVI IIIIIII|] IIIIII"I IIIIIWI IIIIII|Y| IIIIII"I IIIIIWI IIIIII|Y| I‘IIIII

0.5

7000 GeV pp

Soft QCD

m ALICE

—— Pythia 8.308 default
--%-- Pythia 8.308 tune-4c
----- = Pythia 8.308 tune-4cx

pPT () (alice2012n)

..........
B

L1l III|IIII"IIIIIIlI| IIIIIlIJI IIIIII\lI IIIIIIlII IIIIIlIJI IIIIII\II IIIIIIlII IIIIIlIJI IIIIII\II IIIIIIlII IIIIIlIJI IIIIIlIJI IIIIIIlII

Rivet 3.1.10, = 2.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


